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For all the things that are subordinate to the middle term or to the conclusion may be

proved by the same syllogism, if the former are placed in the middle, the latter in the
conclusion [53*17-19]

Con s dsie oo JS e Ui | O
e.g. if A belongs to all B and B to some C [53b38]

555 &Y cobesidl ¥ Jy
true however only in respect to the fact, not to the reason. The reason cannot
be [53°10]
d>ly a8 Cao s WS oY i gldate olendo P Cass LS oY /8 254 (107

ke paddie Je J5 @S
So A is posited as one thing, being two premisses taken together [53°24]
=3 ol e s 5ol e e IS e Jsie e Sl o) Je /16 254 (108
Blodl e e o2 e ke s
e.g. animal belongs to no stone[53°32]
L.\S s T e S ol Gl L.\S s  Aedis <l ol Ll /6 255 (109
but if the premiss BC is wholly false [54%4]

C ot S 83 92 90 e S| Y & 8592 90 e 1 Y /13 255 (110
for A belonged to none of the Cs [54%10]

Cvé 85 9o 9o b u)ﬁ oY N d\‘ é\j}MJJ— | .).:-3; QL/].? 255 111
C & B 0555 1 oY %Sgw\gﬁgwﬁfﬁﬁjﬁﬁ}\ﬁ-;ol::::
that A belongs to nothing to which B belongs: here the conclusion must be false.

For A will belong to all C [54%14-15]
0555 Tl 06 LIS S - o o 5 o o ) oo 235 56 /9 256 (112

1390 (o g 30 9> 8o g o ¢ o298y slatc



79 Sl

ol oS Y Al o e S 31 5 SIS 5 LIS S - o et 1S 1 s
L@Jsu\mAAAu»\ &y\J\&M\JﬁCuuﬂsw&b)?}Aﬁ|u)§;
J_{@DJ?}A‘Q}Q d‘C‘*‘”Y“YbMujg" A;Lw.” bLASL@.\SCuM,\QA}bM
a:‘,_>_,,oG_J‘t“,ﬂ”ywcw;w@b:yyuoﬁygﬁbe}cygju
uﬁjuuY‘}uﬂjﬂ‘ a:y}ngﬂ‘g‘wuaxmr@axgﬂyugngg
e o 5o IS Sz ol A OB Yl e 8 (B8 52 50 b Al
o Ve S 18 o SUIS 5 LIS IS - oo 3 5 oo dmtl o S
@ 0555 o) oo Ll 5 7 5 n et B B st | 0555 o) S 4 L
E«J};Y\@M\Jmcw sl (S 8397 50 uE

Gl am o501 55 Jot) L3 DlS = s e 5 Gl LIS 1 e S
su.;_;Q_jsj_q-jb.jJﬁff‘;lajcw)gw@l«S:)u@jblﬁ)’s:ﬁM\j}-
ﬁMMjb)\JMWg@gé&utymyaﬁﬁéhjC@A
L;_uot_..;\@_w_iw\gjgouw@,gﬂf@&wwlgvﬁ)w@ew
Gslo w80 oo 53,8 o Glab o a0 1058 (53 81l 63,8 e
Bt s o odie STl Blargpranay 5 A3l 3 SIS - o dakie o
d)”‘ @ e S Jas 385 Gl
But if the premiss AB, which is assumed, is wholly true, and the premiss BC is wholly
false, a true syllogism will be possible: for nothing prevents A belonging to all B and
to all C, though B belongs to no C, e.g. these being species of the same genus which
are not subordinate one to the other: for animal belongs both to horse and to man, but
horse to no man. If then it is assumed that A belongs to all B and B to all C, the
conclusion will be true, although the premiss BC is wholly false Similarly if the
premiss AB is negative. For it is possible that A should belong neither to any B nor to

any C, and that B should not belong to any C, e.g. a genus to species [54°28-38]
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That the conclusion should be true; also when the first premiss is false in part, and
the other true; and when the first is true, and the particular is false; and when both

are false. For nothing prevents A belonging to no B, but to some C, and B to some
C, e.g. animal [54°20-24]

Ao oo s gl 3 il Jie g e e B B35m 5 2 /11 258 (114
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For it is possible that A should belong to no B, and not to some C, while B
belongs to no C, e.g. a genus to the species of another genus and to the accident
of its own species: for animal belongs to no number and not to some white
things [55*13-16]
£ o Aadia 5 LIS 1 oo S ol 5 Bao ) S5 SUIS /17 258 (115
L.;\SC;.; Jodde 5 LIS e o | desie S ) 5 Bus el ) oSG SIS 2 LIS
Also if the premiss AB is partially false, and the premiss BC is false too, the
conclusion may be true [55°20]

Y el e Cor et & sy I 055 o) oS Y /4 259 (116

Bz O s (S se 5 esh (B0 se b | 0T ol (S
ol Joo o0 S

For it is possible that A may belong to no B and to some C, while B belongs to no C,

e.g. a genus [55°30-31]

Sledis e Ao ) ol e S Wl Sl s Wl /17 269 (117

L ledis e Ao ) ol Y e < ey i S JS) s Ll g 38
In the middle figure it is possible in every way to reach a true conclusion through
false premisses [55°4-5]
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For if A belongs to no B and to all C, e.g. animal [55"11—12]

C‘Z_».\L:}y.:\f%;\ia.xhﬂo\é ::::é:-y\&.a.&»u’agg\é/3 261 (119
&> L

The premiss AB is partially false, the premiss AC is wholly true [55°37]

Ol oS3 5 LYl am b ol b a2l e 5 /12 261 (120

Sl o6 ¥l a3z s
And to some white things, though man will not belong to some white things, If
then [56°8]

RS C 2 o e P s st IR ) esay &Y /22 261 (121
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For nothing prevents A following neither B nor C at all, while B does not belong
to some C [56°20-21]

© 0SS s o st B B e b 5 0 S (B aasmsa 1/11 262 (122

B 9250 © 05N 5 S (B Esmse s 0 JS BB i Ll BBz e b
C o2

A should belong both to B and to C as wholes, though B does not follow some

C [56°35]

o JS B g | ] b s JS B 3 50 il 1l /18 262 (123

If then A is assumed to belong to the whole of B [56°2]

S b Basm g | 50y a VIS ¢ am B35 e | 0555 5 /21 263 (124
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while A belongs to some B, e.g. white [56°23]
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While A does not belong to all B, e.g. white does not belong to some animals,
beautiful belongs to some animals [56°30-31]

Biopmsn | 055 5 £ S 5 Basmse 0 0585 o iy <2V &Y /14 264 (126
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For nothing prevents B from following all C, and A from not belonging to C at all,
though A belongs to some B, e.g. animal [57%3-5]

LJSL@—\M < Lodia g it \JJSCu 5.»).25.4}/6 265 (127
and BC partly false [57°17]
= = Bolo does L8 Slanie e foaag) 5 JlweY 4l /19 265 (128
Bolo Lo L8 Sleis e iz, 8 NI
a true conclusion may come through what is false, in every possible way [57°30]
o D5 gm S )iz IS 3 1o g gn 6 any b Ia gm0 oS 5l /31 265 (129
B Y1 GO 1) (2 SIIS 5 alS 3 1 g po S6 aan
or that what belongs to some belongs to all. The same applies to negative
statements [57%36]

) sl i 13 52 50 S 131 5 13 5 5o bl oS0 ) Y0 /7 266 (130
a5V s Jomad 5 52 50 5l 352 50 Labis) o) s 315 T3 5o Latis) S0

s T3 5250 J 391 0550 o) Sy (ol b s 50 S IS 131 5 T 550 SN 550
the former will not be either, but if the latter is, it is not necessary that the former
should be. But it is impossible [57°2-3]
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A will necessarily not be white. If then when this is not white B must be great, it
results that if B is not great, it is great, just as if it were proved through three
terms [57°16-18]

Tl 3555 0l 58 L e am e 050 056 U el Wl 5 /3 267 (132
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Circular and reciprocal proof means proof by means of the conclusion, i.e. by
converting one of the premises [57°18-19]
Lﬁt LJY‘ 9 i:_u)\j‘ c,u,wl u‘ QJ.A;J\ c.:\.@ s u‘ Q,SJY &N /17 267 (133
Sl ol s ¥ Ul 35 2 e CIWI uadl ) sl i e o) SO &Y s SN
oY ol 85 s> 50 Lo 5l
for it is not possible to demonstrate through these terms that the third belongs to
the middle or the middle to the first [57°35-36]
P &Y e o o8 L WL Ol s Wy an 0 (WL /10 268 (134
Eze ) hm sl G r) A e (| 2 )5 (0 (Fmse )
LI olldl s Ll ol U dxdl 330 WS bl S o= (
Sydhee Jom | g S @S e S 2 LGl o s sl b
e Sl 53
that is being proved: for C is proved of B, and B of by assuming that C is said of

and C is proved of A through these premisses, so that we use the conclusion for
the demonstration. In negative syllogisms [58%16-20]

s GU Sl 0080 5 7 e st (B B3mse o ol Anals /2270 (135

sl 0SSN IS B i e 0 o) A £ e B Basm s 0 Al
SEN ISl 055 5 7 o0 oot B B2 506 | O

we conclude that B belongs to no C. If then it is assumed that B belongs to
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all A, it is necessary that A should belong to no C: for we get the second
figure [58°20-22]
e S FENTH | L C o2~ B> 50l O il /11 270 (136
the conclusion is BC [58°32]
v.é 5 g2~ 90 CQ\ O A8 69 53 92 90 C‘ Q\ s .,\.as/8 271 (137
it has been proved that C belongs to some B [59%10]
= CQ\S 32z & B CQ\S 131/9 271 (138
if C belongs to some B [59%11]
5 &l PP IEPE o J:-:Y\ ol J:-T P s e d JS 4l /12 271 (139
sl G 3 s pe AN 0L 2N Gamy B0 pm se s 2
if this belongs to some of that, that belongs to some of this [59%13]
\aj_,\; PYERH C OB st FAS 055 ol 5,52 TJL 4 /20 271 (140
T o2 b8yt 105 ol 2
it is necessary that A should not belong to some C [59%25]
T.A.g‘ oobd o Y Y ¢ AN s o AN /2 272 (141
to prove the other: for in no other way can a syllogism be formed [59°32]
L5 ool o8 131 o0 5 Ja¥1 Ul 5 s W) 5 oY1 ey 5 /8 272 (142
el Sl o5 ol
and through the first, but when particular through the second and the last

[59%38]
ool e oSN ol Wl il e oSS ol L /10 272 (143

either are not of the nature of circular proof [59°41]

Lol gz o) e oSl s o) 58 bl WSl Wl 5 /14 272 (144
To convert a syllogism means to alter the conclusion and make another
syllogism [59°1-2]
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if A belongs not to all C, but B belongs to all C, A will belong not to all B [59°31]
Sleasial UL Oy i ug_l.a il uﬂ&m\.a Sleaial Jlay o /6 274 (146
oSl Tl Yo 0550 b S e 1 ol AL
refutation in which the conclusion reached by O, conversion lacks universality, but
no refutation at all. Suppose [59b41]
b 0555 Ll dgd) oY nr W) Sl 3 0,85 Tl et oY /1 275 (147
el Sl
For the conclusion of the refutation will always be in the third figure [60°18]
C< doellg un C P e e Yo il /6 275 (148
conclusion BC [60°23]
C 0P s P B | gou CJf P 8397 90 S | 4/9 275 (149
If B belongs to all C, and A to no C [60°26]
Lodiad (a8l s 4 U5 5 (aBldly oo oleaid) o zsldl /11 275 (150
A\&S}ﬂtﬂhﬁc‘b.\bjulfu‘}h;y‘
its contradictory, the premiss AB will be refuted as before, the premiss, AC by its
contradictory. For [60°27-28]

oVl ISl o b JeaS e JoV1 ISCadl 3 5 Lo J2aS /Y (YYD (VO
as also happened in the first figure [60°35]
o B3 g b 5 e s B35 sy o | o el S5 /31 275 (152
Y el Losde Jai¥ o 5 - L (B 835 pe Cond | o) Dol ()5S 2 gam
leam B 8352 5018 5 0 Lm (B B2s2 50 ) 05N 0 (S
the conclusion will be that A does not belong to some C. But the original statement

has not been refuted: for it is possible that A should belong to some C and also not to
some C [60%38-39]
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then B belongs to no C: but it was assumed to belong to some C. If [61°2]
U Sl e W1 W) Sl s /10 278 (154
refuted through the middle figure, the premiss [61%10]
Gl 5 oS g el Ll peniall WS a5 Al Wl 55 /6 279 (155
o Jol Lo 3 W ol e ad b Ly )l 31 an Y 5l (uld amy (S5 (e 41
omed 45l AL 5 S5 Al bl Ll el WIS 5 als ols o8 gl ol
Gl oly o Sl 2 3 W by Jloall e ad Lo dzdy 131 am oSG
after a syllogism has been formed and both the premisses have been taken, but a

reduction to the impossible takes place not because the contradictory has been
agreed to already, but because it is clear that it is true [61°24-26]

C S i a5 oL Ll o1 S 855 s CQ)§J ob Ll /20 279 (156
305 BBz 0 0 ok Ul gl JS B asm 50 0555 oL Ll
that C belongs to all A, or that B belongs to all D [61°40]
Ll 5 sodsdl e ol o5 4l o dedie S Mol /3 280 (157
1obe ¢ U5 (oo e e (B 8550 8 | S Gl AN D p 5050l e
o8 s b o O dasie SIS N el 5 Jlwe S5 5 g o0 s b (B 852 0 E
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when the premiss BD is assumed as well we shall prove syllogistically what is false,

but not the problem proposed. For if A belongs to no B, and B belongs to all D, A
belongs to no D. Let this be impossible [61°3-6]

O CJJQJ ooy oY m Gaddl oy CJSU"' o o5 Y /15 280 (158
a2l
for let it be true and clear that A belongs to all C [61°16]

P aals 131 Lo e el Ll 050 s 03l g « ol L) o5, /18 280 (159
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supposed, e.g. that A does not belong to some B. Clearly then [61°19]
I il 15 L 2 1 i o o) U SIS 4 /23 280 (160
13 s 2l | C Aedie Sodo ol 2 SIS 5 eld 0 SOY b o dedis &,.o‘,dl
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We may proceed in the same way if the proposition CA has been taken as

negative. But if the premiss assumed concerns B, no syllogism will be
possible [61°23-25]
JaoY 56 @,b,.l\ Ll 5 ol (s 036 ey 4o Cfbﬁ“]‘ Ll ,/8 281 (161

ol e o 5 Bz s b | O O J2Y 5 dnd) (ki (2 & o) cond
but the hypothesis is not refuted. Therefore it is the contradictory that we must
suppose. To prove that A does not belong to all B, we must suppose that [61°32-34]

LIS 08 g o sall oY 22 oo g5 5all oY/ 21 281 (162
for then the hypothesis would be false [62°6]
13 220 138 5l g0 AJS ST 5 3 0@ hr 50 &S ST /2 282 (163
5 (@ pan E 8 sepd D SIS I AY O Gan (F oz | O e b s 0 e
oS s el Lgldsuals (o JS S22 D
Similarly if we should be proving that A does not belong to some B: for if 'not to
belong to some' and 'to belong not to all' have the same meaning, the demonstration
of both will be identical [62%8-11]
sha s LU Y al sl a; LW o ol 2/ 21282 (164
but the problem in hand is not proved [62°30]
C o2 83 9 g b | 306 2 C 0B s Rt /,a-T 283 (165
then A does not belong to some C [62°7]
I8 5 e ] 0585 ol it alll 058 I8 885 e Al 55 1 /8 285 (166
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that the conclusion should be known, nor that one should suppose beforehand
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that it is true or not: in the other it is necessary to suppose beforehand that it is
not true [62°36-37]

o o | o) bad b s dgadl sd Jwb v Lam 3 1 o)) a8 / 51285 (167
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and the original premisses that C belongs to all A and to no B [63%10]
Jul Cé\'.».,\.’d.a Sda gl e I Cé\'.c.,\.’é.a Sasl g /T 286 (168
if the premiss CA should be negative [63%17]

o SIS 5 Jlomall
for thus we shall get what is impossible [63°2]
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that C belongs to no A and to some B [63"11]
oY o ol 5 AL 550l t\;;:)\ & ol J il 08 /12 289 (171
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055 ol
This syllogism differs from the preceding because the relations between the terms
are reversed: before, the affirmative [64*11-12]
o &S Wl sgus S I3l o Sis IS ] 3 g0 cilS 131 /32290 (172
o oSlb 455
whether the terms are universal or not [64°24]

el am S o) Ll oS 5 e ol an 0550 o /6290 (173
Ll o8 5 Lle il amy olS 130 45 IS | 0 oo (o o) 131 g SIS 5 Lake

so that a particular science will not be a science. Similarly if the premiss BA is not

assumed universally. For if some medicine is science and again [64°28-29]

Y e S35 Sl pall (D5 cad jme assY L K05 5 /13 290 (174
0SS ok sl 3 Sle s e o il Gany ol o Sy L) 5 ne
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This does not usually escape notice. But it is possible to establish one part of a
contradiction through other premisses, or to assume it in the way suggested in the
Topics [64°37-38]
ol 4_Zﬂ§l4] CJg 6.9 0.5‘9:-).44.& 9 Cuba 6.9 AJ}:-jAJJ— )/J.:-T ‘290 (175
Jalee Ko LoylS 55 ol O LT s i e b ol [ 5550 ol 2 S
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not to all of the other [64°3]
o2l 5l 2 IS O s (el Ged (2N S ) /15 291 (176
every animal is white and not white [64°22]
O oY 5 oeld e 02w o) ey ) eld e ol e /51 291 (177
BCEW Wl\»&tﬁolw@;;mw@oumoﬁ
or we must argue from two syllogisms. In no other way than this, as was said before,
is it possible that the premisses should be really contrary. [64b26-29]
bl U i o) Wl g o ogllall Lol slal ) i o Gl g /1 293 (178
ol o5

it is also possible to make a transition to other things which would naturally be
proved through the thesis proposed [64b40]

et @ B Ll s s o o Bl e i bl 131 Ll 5 /1 295 (179
ce L Ll e
Further when anything is refuted ostensively by the terms ABC [65b4]
ol 3 oSO e s s (3 5 ) Al 3 SOV L L /5 295 (180
o3 56 055N 555l Ul o bl 0 e
but that is not possible in ostensive proofs: since if an assumption is refuted, a
syllogism can no longer be drawn in reference to it [65b9-10]
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for if we eliminated A and assumed all the same that B belongs to C and C to

D [66°27]

O}gg.)b;é.)C)\AJHAJ\Ouééby\gg’)\)%)\ick}hﬁ.g}\d&/z 298 (182
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e.g. if C is established through A and B, and these through D, E, F, and G, one of

these higher propositions must be false [66°22-23]

SIY UL Yl oS S5 il osse b il e Al /5T 298 (183
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to try to conceal. This will be possible first, if, instead of drawing the conclusions of
preliminary syllogisms, they take the necessary premisses and leave the conclusions
in the dark; secondly if instead of inviting assent to propositions which are closely
connected they take as far as possible those that are not connected by middle terms.
For example suppose that A is [66°36-38]
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One ought then to ask whether A belongs to B, and next whether D belongs to E,

instead of asking whether B belongs to C; after that he may ask whether B belongs
to C, and so on [66°40-41]
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For he knows in a way that A belongs to C through B [66°32]
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In the former case, where the middle term does not belong to the same series, it is

not possible to think both the premisses with reference to each of the two middle
terms: e.g. [66°34-36]
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But nothing prevents his being ignorant that C exists [67%13]
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for ex hypothesi B belonged to all C. And if C is convertible with B, B is
convertible also with A, for C is said of that of all of which B is said. And if C is
convertible in relation to A and to B, B also is convertible in relation to A. For C
belongs to that to which B belongs: but C does not belong to that to which A
belongs [67°37-68%1]
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But if A then C: for they are convertible. Therefore C and D belong together. But
this is impossible [68%16]
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it is clear that B will be said of everything of which A is said, except A itself
Again when [68°22]
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If then A is an object of desire to the same extent as D, B is an object of aversion to
the same extent as C (since each is to the same extent as each-the one an object of
aversion, the other an object of desire). Therefore [68°30-32]
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But since A and C are preferable to B and D, A cannot be equally desirable with
D; for then B along with D would be equally desirable with A along with C But
if [68°33-34]
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If then every lover in virtue of his love would prefer A, viz. that the beloved should
be such as to grant a favour, and yet should not grant it (for which C stands), to the
beloved’s granting the favour (represented by D) without being such as to grant it

(represented by B), it is clear that A (being of such a nature) is preferable to granting
the favour. [68°40-68°3].
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If then C is convertible with B, and the middle term is not wider in extension, it is
necessary [68°25]
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D Thebans against Phocians [69%2]
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but the relation of the middle to the last term is uncertain though equally or more

probable than the conclusion; or again [69°21-23]
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If now the statement BC is equally or more probable than AC, we have a
reduction [69°28]
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this proof is in the third figure [69b13]
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that which proceeds through the last figure is refutable even if the conclusion is true,
since the syllogism [70°32]
b bl 5 .SLLY e o8 b ddle Zadsdly Sl sdn e ena /1 315 (200
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and among them designate the middle term as the index (for people call that the
index which makes us know, and the middle term above all has this character), or
else we must call the arguments derived from the extremes signs, that derived from

the middle term the index: for that which is proved through the first figure is most
generally accepted and most true [70°1-4].
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